C:h Addition (Horizontal)

Name:

Solve each problem.

1) 99+81=

2) 5288+ 1,141 =

3) 976+ 88 =

4) 958 + 668 =

5 69+1=

6) 7031+77=

7) 696 + 588 =

8) 83+22=

9 9,425+ 358 =

10) 76+ 7 =

11) 89+ 24 =

12) 670+ 576 =

13) 9,826 + 83 =

14) 8,418 + 961 =

15) 2,256+ 1,910 =

10.

11.

12.

13.

14.

15.

Answers
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ﬂh Addition (Horizontal)

Name:

Answer Key

Solve each problem.

1) 99+81= 180

2) 5288+ 1,141= 6,429

3 976+88= 1,064

4) o58+668= 1,626

5 69+1= 70

6) 7,031+77= 7,108

7) 696+588= 1,284

8 83+22= 105

9 9425+358= 9,783

10) 76+ 7= 83

11) 89+ 24 = 113

12) 670+576= 1,246

13) 9,826+83= 9,909

14) 8,418+961= 9,379

15) 2,256+1,910= 4,166

10.

11.

12.

13.

14.

15.

Answers

180

6,429

1,064

1,626

/0

7,108

1,284

105

9,783

83

113

1,246

9,909

9,379

4,166
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JL_

Addition (Horizontal)

Name:

Solve each problem.

Answers

{

83 1,064 7,108
9,783 6,429 1,626

70
180

1,284
105 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

99 +81=

5288 +1,141 =

976 + 88 =

958 + 668 =

69+1=

7,031+ 77 =

696 + 588 =

83+22=

9,425 + 358 =

6+ 7=

10.

C
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